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B.B.A. IT SEMESTER EXAMINATION, 2019
Paper - V
BUSINESS STATISTICS PART-1
Time: Three Hours
Maximum Marks: 80

PART - A (5vs — 3j) [Marks: 20]
Answer all questions (50 words each).

All questions carry equal marks.

! 797 a1 &/ FAE FI7 BT GY 50 <] H w7 &/
T 7o B HF G 8
PART - B (&vs — §) [Marks: 40]
Answer five questions (250 words each).
Selecting One from each unit. All questions carry equal marks.
URF §HIE W YH—YF J97 g7d §Y G Gid J97 BIfory |
geder §e P GOV 250 IIG] W 3w T &/
7 7o & Sid G &/
PART - C (gvs — &) [Marks: 20]

Answer any two questions (300 words each).

All questions carry equal marks.

B & goT P Ydd goT BT SV 300 I & 3B T &/
v geI P b THT 8/
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PART - A / Hvs—

Q.1 Define Primary Data.
g sl Bl aRuTT BIfTT |
Q.2 Name various types of bar diagrams.

= YR & IR IRWT & A9 fIRay |

Q.3 Give empirical relation between AM, GM and HM.

AM, GM 3R HM & % ool F=e qarsy |
Q.4 Define Quartile.

el B aRwIRE IR |
Q.5 How is Range calculated?

NS B I bR 8?
Q.6 Define Lorenz Curve.

SINST @b T IRATIT BIFT |

Q.7 Write formula for calculating rank correlation.

X AEHGT B AT B BT GF folRgy |
Q.8 Define Probable error.
S e BT R I |
Q.9 Define Index Number.
JADBIh BT REET ST |
Q.10 Name any two indices being used in India.
IRd § ygad fbel a1 adial & M qargy |
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PART-B / @vs—§

UNIT -1/ go18 — 1

Q.11 (a) Describe pie diagram and histogram.

TS RY U4 fRReUTH BT gl BT |

OR /31ed1
(b) Represent the following data by a suitable diagram:

Year 2013 | 20

14 | 2015 | 2016

2017

Cash Flow

85

110

205 125

210

fr=forRad sriwsl &I SUgad NG §RT <My |

Iy 2013

2014

2015

2016

2017

64l Yarg | 85

110

205

125

210

UNIT -I1/ 18 — 11

Q.12 (a) Calculate the median for the data given below:

Weight (Kgs.) | 3040 | 40-50 | 5060 | 60—70 | 70-80 | 80—90
Frequency 18 37 45 27 15 8
frfaRad effdsl & forg A1feaadT @Y ToHT HIRY |
g (fBT) | 3040 | 40-50 | 50-60 | 6070 | 70-80 | 80—90
31 g é 18 37 45 27 15 8
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(b)

Q.13 (a)

(b)

[0105]

OR /31ar
A contractor employs 20 male, 15 female and 5 child workers. He pays ¥ 380 per
day to male workers, ¥ 350 per day to female workers and ¥ 200 per day to

children. Calculate the average wage per day paid by the contractor.

Udh SHAR 20 JoN, 15 Aleell 9 5 911 AP B B WR IGAT & | 98 JoU AP B

380 I ufdfed, AR sl &I 350 I Ufdfas T a1l sifAel T 200 T gfafdd @l &)

A AN <7 8| SHER gRT U orae o 78 3id Aol S Iy |
UNIT -1l / S&1g — 111

Calculate average deviation from mean for the following data:

Sales 10—20 | 20-30 | 30—40 | 4050 | 50—60

No. of days 3 6 11 3 2

fa=ferRRad srfesi & forv #1eg o 3iad faera™ s SIfvTY |

[EEQ] 10—20 | 20—30 | 30—40 | 40-50 | 50—60
oA @I g 3 6 11 3 2
OR /31041

Calculate Bowley’s Coefficient of Skewness for the following distribution:

Wages Below 200 | 200—250 | 250300 | 300—350 | 350—400 | 400 & above

No. of Workers 10 25 145 220 70 30

ferfeRaa amgfcr faavor & forg Bowley @1 Skewness T[0T ST SHITOTT |

qsr@ Below 200 | 200—250 | 250—-300 | 300—350 | 350—400 | 400 & above
Af¥DT B G 10 25 145 220 70 30
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UNIT -1V / 5&18 =1V

Q.14 (a) What is Regression? How is it useful in business forecasting?

FATSIVT BT 312l 18T | I8 QIS Yaigad H fhd ydprR ST &7

OR /31141
(b) Calculate the correlation coefficient for the following information:
FrfaRad ST @ foly Agdey I[ord ST HIToTT |

N =30, £X =118, £X?> =556, LY = 93, Y2 =309, £XY = 347,

UNIT -V/ 5%15 =V

Q.15(a) What is Fisher’s Ideal Index? Why is it called Ideal?
Fisher’s 3MTeRl I[0le T 57 X 3MMae 9l Hal Sl o7
OR /372d1

(b) Explain Time Reversal Test and Factor Reversal Test.

TrsH Radd WIeTor 3R Hhaex Radel W & AR HIFY |
PART -C / 9vs— ¥

Q.16 Explain the various methods that are used for graphical representation of frequency

distributions.

g faawer & wifthes oo & fog vgaa fafv=t faftat &1 avfs aifsrg |

Q.17 Calculate Harmonic Mean for the following distribution:

i\{'\{'\ N

Hfegd f4aRuT &1 S J1eg Sd & é|Q|

X 0-10 10-20 20-30 3040 40-50

f 8 15 20 4 3
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Q.18 What do you understand by ‘Coefficient of Variation’? Discuss its importance.

FI=TCT & UM’ T T STMUTI 287 §AD Aeed DI [daa-T BIfoY |

Q.19 From the following data obtain the two regression equations:

Sales 91| 97 | 108 | 121 | 67 | 124 | 51 | 73 | 111 | &7

Purchase | 71| 75 | 69 97 | 70| 91 | 39 | 61 | 80 | 47

f=faRad afdrs! A QFT AHISII FHIHRT ST HIFY |

debl | 91 | 97 | 108 | 121 | 67 | 124 | 51 | 73 | 111 | 57

Q.20 Compute Laspeyre’s, Paasche’s and Fisher’s price index for year 2018, using the

following data:

2017 2018
Commodity
Price ) | Quantity (Kg.) | Price @) | Quantity (Kg.)
A 10 50 12 60
8 30 9 32
C 5 35 7 40
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fFrfeRaa sffdsl gRT a¥ 2018 @ fog oRUaN UMl @R 3R & a4 gAdHIdh Bl U]
I |
2017 2018
axg
qeu ) | "= (b)) | qem ) | A0 (fdA)

A 10 50 12 60

B 8 30 9 32

C 5 35 7 40
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